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many hardships to settle on the new land. (A) go along
with(B) go back on (C) go through (D) go into [J [
[ www.examda.com?2. The suggestion that the mayor they
prizes was accepted by everyone. (A) would present(B) present (C)
presents (D) ought to present 3. Beer is the most popular drink
among male drinkers, overall consumption is significantly
higher than that of women. (A) whose (B) which (C) that (D) what
4. Peter, who had been driving all day, suggested at the next
town. (A) to stop(B) stopping (C) stop (D) having stopped 5. |
didnt know the word. | had to a dictionary. (A) look out
(B) make out (C) refer to (D) go over 1 [J L1 www.examda.como.
The professor could hardly find sufficient grounds his
arguments in favour of the new theory. (A) to be based on (B) to
base on (C) which to base on (D) on which to base 7. There are signs

restaurants are becoming more popular with families. (A)
that (B) which (C) in which (D) whose 8. I think I was at school,

| was staying with a friend doring the vacation when | heard
the news. (A) or else(B) and then (C) or so (D) even so 9. It is said
that the math teacher seems towards bright students. (A)
partial(B) beneficial (C) preferable (D) liable 10. In order to show his
boss what a careful worker he was, he took trouble over the
figures. (A) extensive(B) spare (C) extra (D) supreme 100Test [J [
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